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Qg A°HITEALILIE Ag AFA IRER 2| “0” Q QIR IR 686 ?
“90999099”
A. 900 B. 9000 C. 90000 D.900000

G AY 9R 2RIQ B54E IRGIRS § FYIAG QU6 6AYEM K6l 26 ?
A . 100000+20000+300+40+5 C. 100000+0+2000+300+40+5

B. 10000+200000+3000+45 D. 100000+200000+300+45
69Q YO L°HUI 16,24 B 40 FIQU FRURY 629 ?

A. 240 B. 248 C.212 D. 288

Q169 &l @Yl R Rs127 Welg JOIml J6R ©l QUla SllLI6R Rs27145

O QEMI. 6669 Gl QUIS HIGIER 6966 @I 2m ?
A. Rs27,383 B. RS27,272 C.Rs27,167 D.Rs27,270

69T QIZRA Y4 26l QU B 1/3 2°8 € QGP GMl. 66G6L Q@ K6l AR
15l RILA 6R62 2°S QAR FEM ?
A. 2/7 B.7/15 C.7/12 D. 3/8

Q1A 2GR 69159 689 R 1/3 2°¢ ANAU SIAMI 9Q° ¥4 2°8 &I Al
QR M. 6G6L 689 IR 6R6G 2°8 MMl 2

A. 7/12 B. 5/12 C. % D. 1/5
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7.6915N @FQ PIF, IS Gaq 6000005 @R AN RER 666 64 20 KFER
6619 6R60IF @R CAN FQAR?
A. 12000 B. 120,000 C. 1200000 D. 12000000

8.6@6GI5 1/5 q 6KI9R6M 6AIFIPR 2 629 2
A7 B. 10 C.8 D.2

9. 972 K82 65159 RIE R SRSIG SILITEM. 6971168 699 FlIE OF F6M
692169 6915 26 18 76l TAIRNES. 6668 FI6Y T AN 686215 FIIT
0f 2QQIq 969 ?

A. 90 B. 60 C.54 D. 44

10. 3969 291 9 FRIQ 9RF L°¢Ul GIR 6T ALAPR 638162R9<

o 262 403 o952 S 5s 7y T B

A. 7333 , 403 B.7333, 262  C.7333,952 D. 7333, 3537

11. 69115°9 QI 2R AR 2m 10cm S9LI RIGT. 6969 12m60cm KUFI6R

606015 IF G2IR 6QIR ARG ?
A.5 B.6 C.7 D.8

12. 89 QA AIRITER gAY YIF6R 68Q L°HYIT 21D ?

1, 2, 5 10, 17, 26, 37,
A. b1 B. 42 C.50 D. 40
13. 59 o511 &6 9% Q AR GFI60 IR 6ATIEA F6 21 2

9.11 o.F8 o.a6l1 S.01 10.5

A. 10.5,9.78,9.61,9.11,9.01 C. 10.5,9.01,9.11,9.78,9.61

B. 10.5,9.01, 9.78,9.61, 9.11 D. 10.5,9.01,9.78,9.11, 9.6
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1469157 9% 671R16Q 6IFRIRQ &7 APRLIA 0IQ 325 514 2RYF & &F
6eml . AGPRIA GF QUIIR 0IQ 169 §1€ K¢l Q% @F 6Lml. QUIIR B JRLIAQ
QR AR LR QL F 62 JRIIRQ @7 3015 614 @ IF 6Lml. 6668
6IFRIR QR 6966 T8 X QF 6LIRYMI ?

A. 3171 B. 3506 C. 3340 D. 3256

15. Q@Q 649 Q! QIR 6615 9@ 6AIFR T689Q QUFl Rs200 I9° 6816 TRIS
QIR Rs50 ASNAINMI. DG 150 @8l @2 6MIR YS° 200 @4l 6RIF M T6RT
RITEM 6G6Q 671l9 6066 S QA 6LMI ?

A. 36000 B. 40000 C. 42000 D. 400000

ANSWERS
1.C 2.C 3.A 4B 5.C 6.B 7.0 8B 9.C 10.C 11.B 12.C 13.A 14.A 15B
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